ONPEOENUTEINN
BTOPOIO U TPETBEIO
MOPALKA



bbina 3agaHa JoOMaLUHASA

paborTa:
Bbluncnutr
b: 1 2 -1
1) |Al=|3 0 2|=-4
4 -2 5
1 0 2
2) 10 2 0|=-2
2 0 3
-1 5 2
3) 10 7 o0|=—14
1 2 0
2 1 0
4 11 2 1|=4
0 1 2

5) cBoif BapuaHT PP (3apava 2 a), 6).) + |A| (3 3apgaum 1) Ha oTaenbHbIX ancTax!!!



Onpepenutenb TPETLEIO

nopsagka
NMPUMEP
2. no npasuny
1 2 3 TpeyronbHUKa:
0 2 3|=1-2-1+0-1-34+2-3-1-3-2-1-3-1-1-0-2-1=
1 1 1

=2+0+6—-6—-3—-0= -1 OTB

ET

Nno npasuny

Capptoca::
1,2 3|1 2
0:2;'.~3r’@‘,2= 1-2-1 +2-3-1 4+3:-0-1 -3:2:-1-1:-3:1 -2:0:1 =
1 S G B B |

= 2464+0-6—-3-0= -1 OTB
ET



1 2 3

NMPUMEP 4 5 6|= OTBET: 0
3. 7 8 9

3 4 =5
NMPUMEP 8 7 =2|= OTBET: O
4. 2 —1 8

1 0 O
NMPUAMEP 0 1 0= OTBET: 1
5. 0O 0 1




